REVER—K (TA278#&9%)

CHERKR/M)
=9 R e A EALE &3 RIEE | RIELSE

SVCIREPRE T N 8 R () 181 LS 115,840 (BR) \AZP8)E 128,800

R— A 8 A | KIZE (R) 181 LS 82,560 (BR) \AZPs)E 94,400
380/ A 7 Wi A K B EEmES R T 79,500 (B \AZpsiNE 90,000
38| &AF T AT —R AT A 3 B |k OB 48 1L S 162,000 [z ) i e 162,600
382|PFA=—FR /L 1 58 | k) SR E S 67,500 R St (1) A6 L1 S 70,300
3837 X ) — iy —L 4 R () R LS 21,720 TR BRI () R L3 ST 22,400

ATV 2 —E R 1 Ir—A | KRG () /8 1L 35 8,500 TEES T () 16 L2 3 10,500
384|E 224 AV 2 8 |7 () b [ A 18,000 KA Bt (B 166 L1 S 19,260
385| WAL ARV 500 u L ARBTG5 18 1L 2T 7,200 /N DR OB 468 L1 397 7,370

HAZAN Y 50l A REFE GR) 18 L AT 6,500 AR (BR) A8 L 3737 6,670
3867 h=hrUL A EERE (bR 41 T 60,000 - -
387X A EBRE (bR 18 L T 9,600 - -

1-7 2= )b=-3-AF L-5-EF a 1 A PR RGO 48 1L 2T 8,800 — —

AU R F NI 2 1 7 NI DN T DA SEATI S 50 24,000 - -

fil§iR= 7L R(ID S KR4 1 A EERDE (B 8L T 3,100 - -

FA LT T =T 1 A EERDE (B fE 1 T 3,700 - -

1,2,3-F)7ma 7 mo S fE A 1 B PEERE BR) L 2T 5,800 — —
388 | MERL S AT AT HERR AR Y 1 A B ) 1L T 13,000 TR (k) 461 L ST 14,000




REVER—K (TA278#&9%)

CHERKR/M)

=9 RE wE | B EALE &4 RIEEE | RIBHSE
RS AT FIAE MERREE TI 1 A | L k) e L 2 13,000 JEFSRE () 6 L 3 14,000
HERE 3 BT AR HERRE Co 1 A TR L CRR) R L T 13,000 I B () 18 1L 37 14,000
TR AR HER K Be A [T L CRR) e LR 3 13,000 T BRI OBR) 18 1L 37 14,000
389 R VEIE KL HE 2 A EBFE ) 58 1L T 10,600 AN 1R CBR) 8 1 L8 2 11,620
MNURT F— R BEF M 4 AR REFAE () R 1L 3T 33,600 UNIIE IS 5T 38,360

390|ICP-MS A= #E & 1 AR PREFE () 4810 T 31,000 - -

391|=Ee T 1 R [k o) 48 L ST 2,230 TE B (BR) 48 1L 37 2,410
392 h7—a—> (fiffE=) 32 A @0 ry—rrax i 57,600 () \ZpsiNE 63,040
A =R 73— (fifife ) 32 ) 7V— A gLEER | 28,800 (BR) \AZ P 56,960
393|727 —F—O 8 Bl |Beseotn (B ZJsids <03 3208 28,560 () 70— 72 AL ST 30,400
TSI —F—© 4 fE et ) ZJREOE T 13,460 (B 70— rm AR 14,400
3947 XA 10 i | CF) el é)g%% AR (1) A LB S 2,200




